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1.

All questions are compulsory. All questions carry equal marks.

it wes fvard & @ weHt @ st A E)

Before answering the questions, the candidates should ensure that they have been supplied complete
question book-lets. Complaints, if any, regarding misprinting etc. will not be entertained 15 minutes
after the start of the test. i

FeA-TF & F3 | @, anadtror a8 j{fRARe @) A, & 5% @@ ur-afyer Al @ ( oder 0w 89 @ 15 e
a5 39 9= ¥ B Rrerga 98 g9 wed )

In case there is any discrepancy in any question(s) in the Question Booklet, the same may be
brought to the notice of the Controller of Examinations in writing within two hours after the test is
over. No such compalint(s) will be entertained thereafter.

afe ye-va § 5 g @ wmfua @8 R @ O 9w ar ¥ fafea gu/ Rema afean s @ @
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The candidates MUST return the complete question book-let and the OMR Answer-Sheet
to the Invigilator concerned before leaving the Examination Hall, failing which a case of use of
unfair means/misbehaviour will bé registered against him/her, in addition to fodging of an FIR with the
police. Further the answer-sheet of such candidate will not be evaluated.
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The candidates MUST NOT do any rough work or writing in the OMR Answer-Sheet. Rough work
if any, may be done in the question book-let itself.

argdfTor 3fle THo R0 ITR UF WR &S I &1 A &Y | DIA THA-URST § & W Fd B3 |

There will be negative marking. For every wrong answer ¥4 mark will be deducted. In case you are
not sure of answer or do not want to attempt any question, leave the space blank under the concerned
Question No. in the OMR Answer-Sheet. Cutting, erasing, overwriting and more than one answer in
the OMR Answer-Sheet will be treated as wrong answer.

FHRIHS HF B | GAS Tord IoR @ forg Y4 (eders) sies &9 &v fam arnT | af? 3 98t SR & an § amvava
ﬂﬂ?mmﬁmwwﬁﬁwﬁmm—wﬁwWaﬂmﬁﬂmémﬁoqusn;gtmgrww
Fre-tre, e iR 1 | e gav e qm amem fﬂ’y,i/.\ q)ﬂ/'
Use only blue of black ball point pen in the OMR Anwer-Sheet. d 1 :

Ma Mn ARo IER-UF R H9d AR T &I Uiz 09 &7 &) g &9 DaBul



'

Code-C

""‘L " e

lauestion]

No.

1.

\

Questions
To open the existing presentation, press
(1) Ctrl+L (2) Ctrl+ N
(3) Ctri+A (4) Ctrl+ O
Existing I9=y F @99 & o ............. T |
(1) Ctrl+L (2) Ctrl+ N
(3) Ctrl+A ' (4) Ctrl+O

P NP\l A

LA g

After choosing a predefined template, which option has to be chosen to
change the background color ?

(1) Design Template (2) Color Scheme
(3) Animation Scheme (4) Color Effects

% predefined ¥9@e #t g9 % &, fr=1 # & P-4 fa#e9 background color #
e & o W e @ ?

(1) Design Template (2) Color Scheme
(3) Animation Scheme (4) Color Effects

VRRRA A SIS AT SIS

s

How can the slide show be repeated continuously ?

(1) loop continuously until ‘Esc’

(2) repeat continuously

(3) loop more

(4) none

Slide show # fr=1 & & 5% 210 @G repeat a1 o a%ar & ?
(1) loop continuously until ‘Esc’

(2) repeat continuously

(3) loop more

(4) S9 § @ F3 TR

CJDEOT-2012/SET-Y (1)
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30. | Select the option having meaning similar to the word “Abandon”.

{1) Renounce ~ (2) Retain
(3) Maintain " (4) Capture

31. | To print the PowerPoint presentation, press

(1) Ctrl+T (@ Ctrl+E ]
@ Ctrl+S (4 Ctl+P h
PowerPoint Foe o ftc 473 & P s 8 & Al el 2
(1) Curl+T - (2) Cl+E o
(3) Ctri+8 4) Ctri+P K

32. | Which key do yvou press to check spelling ?

(1) F3 @ F5 i X
(3) ¥7 (4) F9 o
Spelling s s a AP ddamdafa@a? = .
(1) ¥3 : (2) F5 C

3y F7v | (4) F9 - .

33. | The Paste Special command lets you copy and paste : |
(1) Multiply the selection by a copied value '
(2) Cell comments

(3} Formatting options | . S

{4) The resulting values of a formula instead of the actual formula f
Paste Special @5z fr & & B4 Copy ©d Paste #% 3 l
(1) % @d # g value & selection F T &7 & ]

(2) Cell comments o ] ' ‘ ' . i

(3) Formatting faweT L R
(4) i GUE ¥ Fa BHA 8 Pl values '
CJDEOT-2012/SET-Y - (10)
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34.

To delete an embedded object, first

(1) Double click the object

(2) Select the object by clicking it

(3) Press the Shift + Delete keys

(4) Select it and then press the delete key
Embedded asiae 3t delete &7 % @ wedt oy 1 1 2
(1) Object F za@ s Fe

(2) Object % s F@& Aade

(3) Shift + Delete =ifadt 1 zad

(4) v=d 3 F9ae F¢ AN 5T delete o zamd

35.

Tab scrolling button

(1) Allows you to view a different worksheet

(2) Allows you to view additional worksheet rows down

(3) Allows you to view additional worksheet columns to the right
(4) Allows you to view additional sheets tabs

¥q whfem qe Free & @ @ s R

(1) & e aHdfe i 3@ 3 Bl wem a7 2

(2) additional ##sfie rows down #1 2@ % o wem T &

(3) additional @@sfie columns to the right @1 23@% & @ a9 T 2
(4) Additional sheets tabs @I ¥@a % @ Fa gwmar 8

CJDEOT-2012/SET-Y (11)
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36. | Afeature of MS Word that saves the document automatically after certain

interval is available on

(1) Save tab on Options dialog box
(2) Save As dialog box

(3) Both of above

{4) None of above

r&r@waﬁﬁrﬁam%m’msmeWﬁ&ﬁrMSWardwfeatureﬁmﬁﬁMW
fyeran 2

(1) Options SEAM dfFd X Save tab | R o
(2) Save as IHATT IHFH ' :
(3) =9 e 4 ,

(4) Far ¥ § F8 =

37. | A master document contains ........ceecrueeenn. , each of which contains a pointer
to a file on a disk ? '
(1} placeholders (2) subdocuments
(3) book marks (4) references
% master TRRT 7 ..oocvecveeievens 2 ¥, Wmmﬂw%mpmnmraﬁl
2 |
(1) placeholders (2) subdocuments
(3) book marks (4) references
38. | Which would you choose to move selected text from one place to another ?

(1) Move and Paste (2) Copy and Paste

(3) Cut and Paste {4) Delete and Paste

1 % & selected text ® vF T & T TE move FA B [0 BA-A1 A |
(1) Move and Paste (2) Copy and Paste

(3} Cutand Paste - {4) Delete and Paste

CJDEOT-2012/SET-Y (12)
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39.

Which enables us to send the same letter to different persons ?

40.

(1) macros (2) ‘template

(3) mailmerge (4) none

Pt & & @ @ oR-orT A6 B AR B R B a7
(1) (2) TqrE

(3) e (4) 2 4

Which key on the keyboard can be used to view slide show ?
(1) F1 (2) F2

(3) F5 (4) F10

Fiare & 9 key @ wa slide show 3@ % o fhar o &%an & 7
(1) F1 (2) F2

(3) F5 (4) F10

41.

A e T famwdt # & @@ g eifew )
(1) 92 69 9 &@°1 2 |

(2) =7 9T F aTq A 2
(3) iz & = sHYY & ARF 9
(4) 38R I W 9H FT AT

42.

A2 o arer it =R gdf # afest FAgEr e T 21 | o v, a9 $ ded §, Jfegw
2| IR T F sifen |

N oy FeEd $ Rt § 9ga @ wa §
(1) = iy (2) #vFd 3 faaa J
(3) ¥gd =& wd 8 (4) #g R @

CJDEOT-2012/SET-Y (13)
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43. | fFr=feiEa T # et TP AR Ru moawd § § @d o #4 e
ql el § ok gaF F e o7 @ 2 A Fedl § ok gEn B A o @ g 2
T8 F AH FT 3T B A IBT AT 2| GEOT F IF BT F qE AT &7 HAT B
ITE g F e e # st )
(1) P (2) =4
(3) =4 (4) zamm
44. | g2 a4 g fAkew g
g -
(1) e (2) =7
(3) gH (4) FMeafaeeE
45. | 99 0F 9= F GNP TNF WY GG ¢ | IF I F T i |
(1) e (2) i
(3) @ (4) ==
46. | Simplify the following.
156-11x14+7—-(=-7)=?
(1) 44 (2) 14
3) 0 (4) 15
Frt &1 o7 #2|
15-11%x14+7—-(-7)="?
(1) 44 (2) 14
(3) 0 (4) 15
CJDEOT-2012/SET-Y (14)




Code-C

IQuestio

—ty Questions
47. | Complete the series.
4,16, 21, 5,20, 25, 6,24 —.
(1) 2 " (2) 30
(3) 18 4) 7
el g B
4, 16, 21, 5, 20, 25, 6, 24 ——.
(1) 29 (2) 30
(3) 18 4) 7
48. | Complete the analogy.
Tractor : Trailor : : Horse : ?
(1) Stable (2) Saddle
(3) Cart (4) Engine
g QU F ¢
ST : T : c gl ?
(1) or=Es (2) =t
(3) (4) 34

49. | Choose the analogous to

Butter : Milk
(1) Pencil : Lead
(3) Jaggery : Sugarcane

SERRCE
HFg - g

(1) U : R
(3) 78 : 7=

(2) Class : Student
(4) Author : Book

(2) & : et
(4) @E% : &%

CJDEOT-2012/SET-Y
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50.

A room 1is to be painted completely from inside at the rate of Rs. 20 per
square feet including door and windows. Its dimensions are 15 feet in length,
12 feet in width and 11 feet in height. What will be the total cost
of painting ?

(1) Rs. 11880 (2) Rs. 15480

(3) Rs. 19080 (4) Rs.27360

UF FHY H AN a91 et gfed oy @ qf ave T #Ram § e e 20 5. Oy ot
G2 21 FHU 15 Fz @, 12 7 e aa 11 G2 SaE F 8 FEW § g9 e @9
o 7

(1) 11880 =. (2) 15480 =.

(3) 19080 =. (4) 27360 =.

51.

Select the correct form of the verb from the options to fill in the blank in

the following sentence
Did you think, you ............... me somewhere before
(1) had seen (2) have seen

(3) were seeing (4) saw

52.

Select the correct option to fit in the blanks in the following para.

The mountaineer was a bit .......... ashe was ............ cutting steps to reach

the top of the hill. He was still moving up ..............
(1) tired, continuously, carelessly

(2) energetic, continuously, aimlessly

(3) tired, continuously, carefully

(4) tried, continuously, carefully

CJDEOT-2012/SET-Y (16)
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53.

Select the correct option to fill in the blank in the following sentence
Mary enjoys ......c.... video games

(1) inplaying (2) atplaying

(3) forplaying (4) playing

Read the following passage and select the statement best supported by it.
Road accidents can be prevented if the quality of roads is improved and
the drivers are imparted training in safety rules which they must follow. It
is also equally necessary that illumination on the roads is adequate so as
to prevent accidents during nights.

Statements :

(1) Road accidents are man-made and are always avoidable.

(2) Road accidents are solely due to inadequate illumination.

(3) Drivers lack of knowledge of safety rules is the only cause of road
accidents. :

(4) Road accidents result in large number of deaths.

55.

Read the following passage and select the correct answer

Leg pain or numbness with or without back pain is a common reason for
individuals visiting various clinics. Usually there is no history of injury to
the leg and lower back, Leg pain often starts in the lower back where the
sciatic nerve originates. This is similar to power going off in our houses
when the problem originates at the electric pole or elsewhere.

(1) Leg pain starts from the place of origin of asciatic nerve

(2) Injury is the only cause of leg pain

(3) Leg pain is not akin to power failure in the houses which occurs at the
electric pole

(4) There is no need for diagnosis of leg pain.

CJDEOT-2012/SET-Y (17)
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56. | wdl o amen faweq g
(L s () & .
@ g - ORI

57, | Frfafad well 3 @ w1 9= sigE B 7
n g 2) T
(3) Ry | (4) WA
58. | frfoaa o=t 4 & 29-71 “rar” o= & qaigar T8 8 7
(1) F= (2) g |
(3) =rffde (4) wemy
59. | Prfafta o=t 3 & “wdF” v & Rudants w= & 97 AR
(1) s __ (2) TR
3) Freds (4) froae
60.

wé o T faen g

a-{:g_ : .
(1) < (2) 3w
@ W @) R

CJDEOT-2012/SET-Y (18)
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61. | To move the cursor page to page of document
(1) Ctrl+PgDn (2) Ctrl+PgUp
(3) Both of above (4) None of above
ZERe ¥ 0F 07 & g 99 W cursor H A 9M 3 ¥ Fr & F Pe-mn ydo 2 #
(1) Ctrl+PgDn (2) Ctrl+PgUp
(8) W am i (4) I & q P TE

62. | Which of the following is used to create news paper style columns ?
(1) Format Tabs (2) Table Insert Table
(3) Insert Textbox (4) Format Columns
Brer & @ sr@ar ©Rd 3 column 99 3 fyw Fg-ar ygrm § @m@n e & 7
(1) Format Tabs (2) Table Insert Table
(3) Insert Textbox (4) Format Columns

63. | To insert a drop cap in one of the paragraph you should access
(1) Insert Menu (2) Format
(3) Tools (4) None of above
frel 7% & drop cap 3R @ o B § & P g@r w9l ?
(1) Insert Menu (2) Format
(3) Tools (4) IviEa § & 9 78

64. | What is the shortcut key to Close Active Document in MS word ?
(1) Ctrl +F4 (2) Shift + F4
(3) Ctrl + Shift + F4 {4) None of above
MS Word # tf¥eq z@@s &t 42 &1 & @ Shorteut =&t - &<t 2 ?
(1) Ctrl+F4 (2) Shift + F4
(3) Ctrl + Shift + F4 (4) I90Ed ¥ § F2 78

CJDEOT-2012/SET-Y (19)
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4. | InPowerPoint, when the mouse pointer appears as .............. this it indicates
that Draw Table feature is on
(1) Solid plus sign
.(2) Solid arrow
(3) I-beam
(4) Pencil
PowerPoint § mouse pointer = & & .............. g 21 & ot & g2 Tam @
Draw Table %97 on 2|
(1) Solid plus sign
(2) Solid arrow
(3) I-beam
(4) Pencil

(1)
(2)
(3)
(4)

(1D
(3)

5. | What do you do to start the slide show ?

Click on Go
Turn on transition

Click on the slide show icon

All of the above

Slide show # g% #13 3 93 99 F71 F70 § 7

Go 7 Click 5t (2) Transition # turn on 1
Slide show # % %t (4) 90 99 gd

CJDEOT-2012/SET-Y (2)
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65. | What is the shortcut key to “Insert Hyperlink” in a document ?
(1) Ctrl+ H (2) Ctrl+ L
(3) Ctrl+K (4) None of above
o Z@ast # “Insert Hyperlink” & f&@ Shortcut @wt #=-4t &t & ?
(1) Ctrl+H (2) Ctrl+L
(3) Ctrl+K (4) Iv0aT ¥ & FE 7@
66. | Some set rules and regulations while working on internet is called :
(1) Protocol (2) Internet
(3) Intranet (4) WWW
Internet 97 #® F1 3 F& g9 A ffadl 3 8¢ (Set) F #1 F& 9@ 2 ¢
(1) Protocol (2) Internet
(3) Intranet (4) WWW
67. | Video-conferencing is used for :
(1) talking to each other (2) communication purpose
(3) live conversation (4) none |
fafed #=hfEm & Igam et B s 2o
(1) 3m9q & aq 3 3 @ (2) &I & fag
(3) w4 FrrEE & o (4) 300 | 8§ 13 7@
68. | VDUisa
(1) Inputunit (2) Output unit
(3) Processing unit (4) Storage unit
VDU &% w#r @ Device 2
(1) g 395 (2) AITPE 3FE
(3) st g (4) == 3.

CJDEOT-2012/SET-Y (20)
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69. | What does optic fibre use to transmit data :
(1) vibrations (2) sound
(3) electric current (4) light
Optic Fibre & 2fer dumor & fou fpas s & @
(1) #W (2) =
(3) fae g - (4) s
70. | What is Binary equivalent of 23 :
(1) 1010 (2) 1101
3) 10111 (4) 10101
T9Wed T 23 1 aRAd equivalent 4
(1) 1010 (2) 1101
(3) 10111 (4) 10101
71. | Name the Prime Minister of Russia
(1) Viadimir Putin (2) Leonid Tibilov
(8) Valentin Topov (4) Dmitry Medvedev
&4 & 9 A= H AH a4l
(1) =i yfe (2) FrafRr Rfaae
(3) 3Jafew aNg (4) =R Azada
72. | Choose the smallest country among the following in area

(1) San Marino (2) Tuvalu
(3) Nauru (4) Monaco
Fret & & & |99 812 39 A g

(1) @™ 3= (2) zag

(3) W5 (4) JFEF

CJDEOT-2012/SET-Y (21)
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73. | Excepting China and India, which country has the biggest population in
Asia? ;. :
(1) Japan . .7 (2) Bangladesh
(3) Indonesia (4) Pakistan
99 7 WG 9 BisF Prar A Rew Ay H SEem waivs B ?
o e @
7RI Y - M‘ TR
74. | Angkorwat temple complex i
(1) Indonesia ?
() Cambodia | o
(3) Thailand \
(4) Malaysia -
ST TR T oo A for B |
(1) F=efEm - | v
@ AW |
(3) &3
(4) =N

75. | What is the capital of Qatar?

(1) Doha . . (2) Muscat

@) Kuwait (4) Manama

F & T e '

(1) 2@ (2) L

(3) F @) T . |
CJDEOT-2012/SET-Y | (22)
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76.

The chart wizard term data series refers to :

(1) A chart legend

(2) A collection of chart data makers

(3) Adatalabel

(4) A set of values you plot in a chart

Chart o€ term zrer fafts @1 fos & @ fpwd s @
(1) % 9t legend

(2) Chart data makers 1 d7€

(3) % erT qEd

(4) Values & &z &t a9 =€ & plot & &

71.

A typical worksheet has ............. number of columns
(1) 128

(2) 256

(3) 512

(4) 1024

u% typical worksheet ¥ ............. column & ¥

(1) 128

(2) 256
(3) 512
(4) 1024

CJDEOT-2012/SET-Y (23)
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78.

What symbol is used before a number to make a label ?

(1) “(quote)

(2) =(equal)

(3) _(underscore)

(4) ‘(apostrophe)

fr=1 § & 19 @ symbol % number F R &M 96 & 4 a1 label a9 99 |
(1) “(quote)

(2) =(equal)

(3) _(underscore)

(4) ‘(apostrophe)

79.

Which elements of worksheet can be protected from accidental modification
(1) Contents (2) Objects

(3) Scenarios (4) All of above

F= & & worksheet 3 #H-8 d@ 31%=% modification & protect &3 1 7% % :
(1) Contents (2) Objects

(3) Scenarios (4) FUT g gt

CJDEOT-2012/SET-Y (24)
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80. | Data can be arranged in a worksheet in a easy to understand manner
using
(1) auto formatting (2) applying styles
(3) changing fonts (4) all of above
siiEdl 3 worksheet # o @@ A Py & @ R AW Zafad B o a%a @
(1) auto formatting (2) applying styles
(3) changing fonts (4) T g a4

81. | In a certain code, ‘786’ means ‘study very hard’ ‘958’ means ‘hard work
pays and ‘645’ means ‘study and work’. Which is the code for ‘very’ ?
(1) & (2) 6
3) 7 (4) 8
wF FE # 786 F Iy R i 3 v’ 958 = o ¥ € 7% O aw 645 F o B =
s AR | AW R R M AT R ?
(1) & (2) 6
3) 7 (4) 8

82. | What % of a day is 2 hours ?
(1) 8% (2) 12%
(3) 4.16% (4) 8.33%
& R wp R @ R e @ 7
(1) 8% (2) 12%
(3) 4.16% (4) 8.33%

CJDEOT-2012/SET-Y (25)
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83.

Choose the group of letters different from others.
(1) POCG o
@ KUz @ .. | SRR
@ BUDX - ._
(4) FQMV

g I AE T A o= A B R
(1) POCG
(2) KLIZ |
(3) BUDX

(4) FQMV

84.

Two tanks are of the same capacity. The dimensions of the first tank are
12 m x 8 m x 4m. The second tank is square with a depth of 6 m. Find the

side of the second tank.

(1) 4m (2) 6m

(3) 8m (4) 10m

3} T qEE HHT F E | 9uW a5 R 12 |t x 8 | x 4 it ¥ ) g drae @ § e
6 A T8V &1 gHY A & Y qand |

(2) 64

(1) 4r&
; (3) 89 C(4) 10
' CJDEOT-2012/SET-Y (26)
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85.

Which alternative does fill up the blank ?

Ny
(1) \\*

N/

(2)
' |P “han \ 1 '\‘1, ) :. \
3) Lv] Y W AN
- e a8 a2 ?
NENANIRE
(1) ;,—/ (2) V
(3) M (4) A
- CJDEOT-2012/SET-Y (27)
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86. | Which animal figure is not adopted in the National Emblem of India ?
(1) Lion (2) Bull
(3) Elephant (4) Horse
a3 U R § B oy & agla # w8 o g 7
(1) (2) 3
(3) et (4) st

87. | On June 1st, 2012 which Vikram Samvat is going on ?

(1) 2068 (2) 2069
(3) 2070 (4) 2012
57 1, 2012 F FA-a o dad 99 w8 7

(1) 2068 (2) 2069
(3) 2070 (4) 2012

88. | Light travels from the Sun to the Earth approximately in ................

(1) 8.3 minute (2) 24 hours

(3) 364.4days (4) One light year
gl A gl T TET T e 4 ugg W 2

(1) 8.3 e (2) 2452

(3) 364.4R7 (4) UF gHq

89. | What is the normal human body temperature ?

(1) 36.9°C (2) 98.4°C
(3) 100°C (4) 50°C
M 9Mg 9T 89EE #4987

(1) 36.9°C (2) 98.4°C
(3) 100°C (4) 50°C

CJDEOT-2012/SET-Y (28)
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90. | Which state among the following has the least number of members in
Vidhan Sabha ?
(1) Sikkim (2) Goa
(3) Mizoram (4) Manipur
Fresr & fbe ooy @1 Ry & § w98 &9 @e B 7
(1) s (2) e
(3) friA - (4) =T

91. | E-mail address separates the username from the ISP using the ...........
symbol :
(1) & ' 2 @
(3) % (4) *
-0 qaT SMEUEdt A ST B AT B v % E T HA @ ¢
(1) & (2) @
3) % 4) *

92. | Before a disk can be used to store data, it must be :
(1) formatted (2) reformatted
(3) addressed (4) none of the above
o W ;T W FA A wW, BT Ao, FEAT =feq -
(1) e (2) ez
(3) wEw (4) I90%d & & g ft 7

93. | When you put on the computer in morning it is called :
(1) hot boot (2) cold boot
(3) warm boot (4) none of these
e HYeT B ge on fH A€M R, A TE ... el 8
(1) Bege (2) e g2
3) ag (4) I7dE ¥ § i o 7
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6.

In satellite based communication VSAT stands for :

(1) very small aperture terminal
(2) varying size aperture terminal
(3) verysmall analog terminal

(4) none of above

U e ger § VSAT &1 weaee 2 ¢
(1) very small aperture terminal
(2) varying size aperture terminal

(3) very small analog terminal

(4) S0F H § P A 78

The word length of a computer is measured in :
(1) Bytes (2) mm

(3) m (4) Bits

Foget § o qen e § Rewd ad SR @

(1) arEH (2) MR

(3) H#Hrex (4) f@TE

What type of device is computer keyboard :
(1) Memory (2) Output
(3) Storage (4) Input
FET F A fFd THC # device ¢ :

(1) Memory (2) Output
(3) Storage (4) Input
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94. | Exploring the world wide web is called :
(1) Net surfing {2) Internet explorer
(3) Net navigation (4) Netscape Navigator

958 a13e 39 F explore FA # ¥ Fal A

(1) Net surfing (2) Internet explorer
(3) Netnavigation (4) Netscape Navigator
95. | The first part of a complete URL is the .......... needed to access the web
resource :
(1) address {2) name
(3) location (4) protocol
ot URL & 9&dl M @@ .......... 86T &, S 39 HawE & 390 H4 3 fou =@y
(1) e (2) ™
(3) =M (4) g
96. | Select the antonym of the word “Replaceable” from the options given below
(1) Irreplacable (2) Inreplaceable
(3) Irreplaceable (4) Unreplaceable
97. | Select the correct antonym of the word “Measurable” from the options

given below
(1) Inmeasurable (2) Immeasurable
(3) Unmeasurable (4) None of the above
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- 98. | Select the option which is antonym of the word “Encryption”.
(1) Uncryption (2) Description

(3) De-encryption (4) Decryption

99. | Select the option with correct spelling of the word
(1) Beleaguer (2) Beleagur

(3) Beleageur (4) Beleagar

100. | Select the option with correct spelling of the word
(1) Chauffar (2) Chauffer

(3) Chouffer (4) Chauffeur
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9. | Softwares such as explorer and firefox are referred to as
(1) System Software (2) Utility Software
(3) Browsers (4) Internet tools
Hireda? 4 B explorer w4 firefox 1 Faad g:
(1) fawy dfFaat (2) FRiwe qrreaay
(3) @ (4) F=E T

10. | The time elapsed between the initiation of a memory operation and the
completion of operation is known as :
(1) memory cycle time (2) memory access time
(3) transfer time (4) skip time
i memory operation ¥ Y&EIR | TH 3T B F 919 F THI TN FHAA © ¢
(1) memory cycle time (2) memory access time
(3) transfer time (4) skiptime

11. | A hawker from a point walks 7 km Eastward to turn left and walks 6 km.

From there he moves Southward 7 km to turn right and stops after walking

7 km. How far and in which direction is he now ?

(1) 8 km, East (2) 13 km, North

(3) 1km, West {4) 1km, South

0F YedET U wH § 7 BB @ #t ot o7 %Y and gz o 8 ofk 6 fRR. awen B
o1 & afEer @ oY 7 fER. e @ a9 a) g3 & 7 B 9w 5% o 81 98 o anhes
@ Rl T od R Ram # 2 7

(1) 8 .4l ¢ (2) 13 .41 I

(3) 1 . ofden (4) 1 5. o
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12. | Which diagram represents ?
Father (F), Mother (M), Child (C)
NacoEololo
> @ »(®)©®
Fi-a fer foreaor #ear & 7
fe (F), =rr (M), @ (C)
2@ 2 OO
@  «®0

13. | Choose the odd one
(1) Geometry
(2) Algebra
(3) Arithmetic
(4) Mathematics
ELER-C ]
(1) =affafe (2) disite
(3) s (4) TRm
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14. | What is equal to
0.9x0.01 x0.03
=?
0.27
(1) 0.01 (2) 0.001 (3) 0.10 (4) 0.0001
% FUET F1 B
0.9 x0.01 x0.03
=?
0.27
(1) 0.01 (2) 0.001 (3) 0.10 (4) 0.0001
15. | Find one number from the given alternatives which can fill both question
marked spaces :
v625 _ 7
? 1
(1) 5 (2) 4 (3) 256 4) 20
Ru U fagedt & & ¥ gen g7 o a1 yed Rifed =&E # 9w
v625 _ 7
OIS
(1) 5 (2) 4 (3) 256 (4) 20
16. | Who was the first woman to become the Chief Minister of a State in
India ?
(1) Sarojini Naidu (2) Sucheta Kriplani
(3) Vijai Lakshmi Pandit (4) Rajkumari Amrit Kaur
ad 3 Rl 79 A g w9 Al gew aRee 9 4 ?
(1) aifF g (2) AT FI
(3) fom @wd died (4) TFATH A IR
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17. | Raman Singh is the Chief Minister of ...................
(1) Chhattisgarh (2) Tripura
(3) Jharkhand (4) Madhya Pradesh
Uk iy 3 7@ W E
(1) oei|T (2) PBga
(3) #EvE (4) 727 Few

18. | What is the total number of nationalized banks in India ?

(1) 21 (2) 20
(3) 14 (4) 6
wRa § UEga 39 B Hw wen e @ 7

(1) 21 (2) 20
(3) 14 (4) 6

19. | Which state among the following has the highest literacy rate ?

(1) Goa (2) Maharashtra
(3) Himachal Pradesh (4) Mizoram
faet & | e Ty 9 anear & wdiiYs 2 7

(1) (2) w5errg

(3) fenmam waw (4) f=irm

20. | Who did ransack Somnath temple in 1026 AD ?
(1) Mohammad Bin Qasim  (2) Mahmud of Ghazni

(3) Mohammad Ghori (4) Genghis Khan
g1 1026 ¥ |y qf=T | a2 B 0

(1) #ewe 7T Fifm (2) #egqz T

(3) = M (4) = @m
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21. | Frfefe o=l F & g 9= g

(1) vaEgsn (2) sasA

(3) ormEA (4) sramEEn

22, | Frefafea 9= @@t # 8 F-w Ty TR § R g H gEieEnE § 7
(1) e, R, I&Ed

(2) s, davEret, e

(3) Teta, IUGH, [

(4) woEd, e, fodd

23. | Ffafag o=t & 8 “af” 9= # Rodads 9= H 997 Ho |
(1) faEr
(2) wfcenet
(3) weArt
(4) argarE

24. | 97 Ru 7o amm ¥ fom @ WA $ e ad EEe g
........... F 99 deT & A Rawr & 99

(1) feafa (2) el
(3) wAla (4) 7 -
25. | F=ifaa ae & faa @@ 973 3 @8 Rt &1 99 S
T5H T Il . 21
(1) = (2) &
(3) = (4) ITHT
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26.

One of the following sentences is correct, while the rest three have some
error(s). Select the correct sentence.

(1) Walk carefully lest you fall down

(2) Walk carefully lest you may fall down
(3) Walk carefully lest you are fallen down
(4) Walk carefully lest you should fall down

217.

The following sentence has an error in one of its part. The number assigned
to the part is the answer. Ignore the errors of punctuation, if any. Mark

the correct answer.

As the Prime Minister of India, Jawaharlal Nehru was known by all types
of people in the World

(1) As the Prime Minister of India
(2) Jawaharlal Nehru

(3) Was known by all types

(4) of people in the World

28.

Select the correct option reflecting correct meaning of the word “Baffle”.
(1) Fear (2) Puzzle
(3) Clarify (4) Enlighten

29.

Select the option which is a synonym of the word “Torment”.
(1) Comfort
(2) Respect

(3) Torture

(4) None of the above
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